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3. The area of a rectangle is 12x y4 If the height is 4xy?, what is the base?
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4. The lengths of the sides of an isosceles triangle are represented by (3y? + 4y) and (4y — 3).
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5. Find the product; (4x — 3)(4x + 3) —?Ow‘
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9. Find the area of a square with the side length of (x+5).
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10.Find the area of a rectangle with length of (2x—1) and width of (2x—4) ‘ﬂ I~

— (ox- - E 6 ¥F L __Cioak. _
= (2x-1) {2x-4) */x\"\:-@ﬁi"f” G, = (X125
Ly == 10x +4 —3Ye ®

11. Simplify: 2x{;§g}21)—‘1(3}2y—4y) ) Distribu< 2)cLT

H\-:‘3>‘~ j)*‘ H9
lloxlfj =% Y *‘*"U,J

12. Find the perimeter of a rectangle with side lengths of (3x* —2x+5)and (2x* —2x—4).
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13. Which of the following expression(s) is represented by the algebra tile model: (circle all that apply)
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14. Find the total area of the polygon, given the area of each of its parts.
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